RESOLUTION NO. R-121123-1

A RESOLUTION OF THE CITY OF PORT LAVACA FOR THE ELECTION OF THE BOARD OF DIRECTORS FOR THE CALHOUN COUNTY APPRAISAL DISTRICT

- WHEREAS, this election is for the Board of Directors of the Calhoun County Appraisal District; and
- WHEREAS, the Board of Directors consists of five members who serve two-year terms, the next term being January 1, 2024 through December 31, 2025; and
- WHEREAS, the CITY OF PORT LAVACA, TEXAS is a taxing unit entitled to vote in the election for the Board of Directors for the Calhoun County Appraisal District, if so desired.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF PORT LAVACA, TEXAS:

THAT, the following number of ballots are cast and submitted as exhibited on the attached official ballot in the election for the Calhoun County Appraisal District Board of Directors.

PASSED AND APPROVED on this the 11th day of December, 2023.

	Jack Whitlow, Mayor				
ATTEST:					
Mandy Grant, City Secretary					

OFFICIAL BALLOT FOR THE ELECTION OF THE BOARD OF DIRECTORS FOR THE CALHOUN COUNTY APPRAISAL DISTRICT 2024-2025 TERM

VOTING UNIT	TOTAL VOTES AVAILABLE*		
CITY OF PORT LAVACA	345		
CANDIDATES	NUMBER OF VOTES CAST		
BAUER, W. H. JR.			
BOONE, BENJAMIN			
HILL, KEVIN			
LYSSY, VERN			
RODRIGUEZ, JESSIE			
	TOTAL:		

^{*}You may cast all your votes for one candidate or you may split your votes among any of the candidates.

This ballot must be returned with the resolution or order approving the vote no later than December 14,2023.

CALHOUN COUNTY APPRAISAL DISTRICT

426 West Main Street * P.O. Box 49

Port Lavaca, Texas 77979 Appraisal: (361) 552-8808 Collections: (361) 552-4560 (361) 552-4787

Website: www.calhouncad.org



Board of Directors

Commissioner Vern Lyssy, Chairman Kevin Hill, Vice Chairman Jessie Rodriguez, Secretary W. H. Bauer, Board Member Benjamin Boone, Board Member

Chief Appraiser Jesse W. Hubbell

12/5/2023

Greetings to the County Judge, President of the Board of Trustees for the Calhoun County Independent School District, and the Mayors of the Cities of Port Lavaca, Point Comfort and Seadrift:

It is now time for each governing body to vote for the Board of Directors for the Calhoun County Appraisal District for the 2024-2025 term. Please place this on your agenda for your November meeting. Submit the official results to my office no later than December 14, 2023.

I have enclosed the official ballot which includes the name of your jurisdiction, total number of votes that may be cast by your jurisdiction and the list of all candidates.

You may cast all votes for one candidate or distribute any amount of your votes among the candidates. 834 votes are necessary for a candidate to be assured election to the appraisal district board. The top five candidates receiving the most votes are elected to the board.

Please note the following requirements for voting:

- Votes must be submitted by resolution.
- A copy of the official resolution must accompany the ballot.
- The Official ballot and resolution must be returned to the chief appraiser no later than December 14, 2023. Please take action now to vote and return your results to my office as soon as possible.

I will count the votes and declare the five (5) candidates receiving the largest cumulative vote totals as elected to the board. Before December 31, 2023, I will submit the results to the governing body of each taxing unit in the appraisal district and to the candidates.

I have enclosed the official ballot with a sample resolution. Please make changes to the resolution if necessary to comply with your requirements. I have also enclosed the number of votes that your taxing unit may cast.

Let me know if you have any questions. Your cooperation is greatly appreciated.

Respectfully,

Jesse W. Hubbell Chief Appraiser jhubbell@calhouncad.org

VOTING ALLOCATION FOR THE CALHOUN COUNTY APPRAISAL DISTRICT BOARD OF DIRECTORS

		TOTAL LEVY FOR ALL TAX UNITS ELIGIBLE TO		Multiplier Per Tax	Rounded to Nearest Whole	Number of	Number of Votes for Each
Taxing Unit	2022 Tax Levy	VOTE	Levy	Code	Number	Directors	Tax Unit
CCISD	\$ 42,008,737	\$ 73,525,163	0.571352	1000	571	5	2855
COUNTY	\$ 25,079,885	\$ 73,525,163	0.341106	1000	341	5	1705
CITY OF PORT LAVACA	\$ 5,068,292	\$ 73,525,163	0.068933	1000	69	5	345
CITY OF SEADRIFT	\$ 551,664	\$ 73,525,163	0.007503	1000	8	5	40
CITY OF POINT COMFORT	\$ 816,585	\$ 73,525,163	0.011106	1000	11	5	55
TOTAL	\$ 73,525,163		1		1000		5000